=,

In the previous class, we have learnt upto 4-digit numbers, i.e. 9999. If the
numeral for a number is formed by four digits then the numeral is written as
a four digits numeral and number is a 4-digit number. If we add 1 to 9999 to
get 10000, i.e. tenthousand which is the smallest 5-digit number.

“Numbers Bpaond 9999

We know that the

greatest 3-digitnumber —>999+1 = 1000 <—smallest4-digitnumber
greatest4-digitnumber — 9999+ 1= 10000 <—smallest5-digit number
We read 10000 as ten thousand.

In the place value chart, the fifth place from the

rightis called the ten thousands place. T-ThTh H T O
Each number beyond 10000 can be obtainedby 1 o o 0o o
adding 1tothe number.

Look at some of the 5-digit numbers.

Numeral How we read

10000 + 1 = 10001 Tenthousandone
10999 + 1 = 11000 Eleventhousand
11000 + 1 = 11001 Eleventhousandone
20000 + 1 = 20001 Twentythousandone

99998 + 1 = 99999 Ninetyninethousand nine hundred ninety nine
99999 is the largest 5-digit number.

Now, 99999 +1=100000 «—— Smallest 6-digit number.

We read 100000 as one lakh.

~
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In the place value chart the sixth place from NS NI ST 0
therightis called the lakhs place.

We add 1 to 100000 to get 100001. Further,
we add 1 to 100001 to get next number, i.e.
100002. Continuing in this manner, we get 999999—the largest 6-digit
number.

We read 999999 as nine lakh ninety nine thousand nine hundred ninety nine.

Again, 999999 + 1 =1000000«<——Smallest 7-digit number.

l
s =

1 0 0 O O O

T-L L T-ThTh H T O
We read 1000000 as ten lakh.
1 0 O O 0O o o

Face Value and Place Value

Face value

The face value of adigitis the value of that digitin a number.

Place value

A number gets its value according to its place in the number. The product of the
digit (face value) and the value of its place is called the place value of the digit.

Observe the following.

(R I I D - N BN O Place value of the digit 9 at different places

9 9 9 9 9 9

‘ | > 9 x 1 = 9
> 9 x 10 = 90
> 9 x 100 = 900
> 9 x 1000 = 9000
> 9 x 10000 = 90000
» 9 x 100000 = 900000
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'\ Now take alook at the coloured digits in the given place value chart
6 and fill in the blanks.

Thousands

T-L L T-Th Th H T @)

5 6 7 9 2 3

4 2 8 6 8 5

3 1 0 8 9 4

3 5 6 4 9 7
Theplacevalueof 7in567923is 7 x 1000 =7000

Theplacevalueof2in428685is 2 x ................... S
Theplacevalueof3in310894is 3 x ................... S
Theplacevalueof9in356497is 9 x ... Seereeerveeereenans

All large numbers are separated by periods. Look at the place value chart.
Ones, tens and hundreds places come in the ones period. Thousands and
ten thousands places come in the thousands period. Lakhs and ten lakhs
placescomeinthelakhs period.

.~ FAC

Ff QO Place value of 0 is always 0, whichever place it occupies. \

Separating the periods by commas in large numbers help us to read the
number easily.

For Example: Lakhs Thousands Ones
T-L L T-Th Th H T 0)
7 5 2 4 9
8 4 6 3 8 9

75,249 is read as seventy five thousand two hundred forty nine.
8,46,389isread as eight lakh forty sixthousand three hundred eighty nine.

Note that the number names are easy to write when the period are separated
by commas.

~
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| Writimi the Numeral For the Number Name A

The place value chart helps to write the numeral correctly.

Example I : Write the followinginfigures:

a. Sixlakh eighty five thousand four hundred twelve.
b. Seventytwothousand four

Solution : L T-Th Th H T (@)
a. 6 8 5 4 1 2
b. 7 2 0 0 4

-~ FAC

"T QO The empty places are filled by zeros. \

¢ HIGR C IS JE T 21

Write the following numbers in a place value chart and give the
place value of the circled digits.

a. 65(3)1 b. 209745  c. 3(6)280 d.(8)4127

e. (7)2305 f. (4)2630 g. 56(6)12 h. 95(3)20

Mark the periods by placing the commas and write the number
names for the following.

a. 25725 b. 308491 c. 571972 d. 374506
e. 457926 f. 6852512 g. 671241 h. 2174865

Write the numerals for the following number names with the
help ofa place value chart.

a. Thirtyeightthousandtwo hundredfortynine .........................
b. Fiftyninethousandtwo hundredsixty ...
c. Sixlakhtwentythousandfifteen .l
d. Fourlakhfivethousandthree hundrednine  .........................
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‘s ‘ 4. Writethe smallest 7-digit number in figures by separating periods.
’ 5. Writethe greatest 5-digit numberin words.

| Numloprimi Sustpm

There are two numbering systems.

1. IndianSystem 2. International System
Indian system :
Periods Crores Lakhs Thousands Ones
PlaceValue — | g | | o . = 8 9 _
2 = g5 | = ==
Numbers +
One 1
Ten 1 0
Hundred 1 0 0
1 Thousand 1 0 0 0
10 Thousands 1 0 0 0 0
1 Lakh 1| 0 0 0 0 0
10 Lakhs 1 /0] 0 0 0 0 0
1Crore 1|0 0 0 0 0 0 0
10 Crores 1] 0|0 0 0 0 0 0 0
Periods: InIndian system, the periods from right to left are ones, thousands,
lakhs, crores.

In this system:
1. Thefirstthree places make the ones period.
2. Thenexttwo places make the thousands period.

3. The next two places after thousands make the lakhs period in
agiven number, the periods are separated by comma(,).
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International System : >4 5'
Periods Billions Millions  Thousands °
Place —— - oo Joled g gl .
25 & = |23 3 S |2 § § § 3 =l @
Numbers
One 1
Ten 1,0
Hundred 110]0
1 Thousand 1/0/0]0
10 Thousands 1/0,0[0]0
100 Thousands 1100|000
1 Million 1/0({0|0|0|0]|O
10 Millions 1/0(0[0|0|0|0]O
100 Millions 1/0({0|0|0O|O0O|O0O| 00O
1 Billion o,o0(0j0|0|O0O]O|0O]|O
10 Billions 1 o,o0(0j0j0|O0O]O|0O]|O
100 Billions 10 o,o0(0j0|0|O0O]O|0O]|O

Periods: In International system, the periods from right to left are ones,
thousands, millions and billions.
In this system:
1. Thefirstthree places make the ones period.
2. Thenextthree places make the thousands period.
3. The next three places after thousands make the millions
period.

4. The next three places after millions make the billions period.
In a given number, each periodis separated by comma(,).

)
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5 ‘ Let us compare the two place value charts and see the corresponding name
inIndian system as well asin International system.

Q < & &
<
C NG \ O P > O
>3 o & S SR & N
o| & ¥ & SRS S S & & &
& N 2 S S S S &
O O I R D O BN

Example IT : Writethefollowing number by separating the periods.

a.683942 b.190786527 c.35403891 d.2135864

Solution
Given number Using Comma

-C/ C T-L L T-THITh |[H T |O
6 8 3 /9 4 2 6,83,942

7

1

1 9 0 7 8 6 5 2 19,07,86,527
35 4 0 3 8 9 3,54,03,891
2 /1 3 5 8 |6 4 21,35,864

Example ITI : Rewrite the following numbers with proper comma bothin
Indian system as well asin International system.

a. 289436 b. 1863591
Solution . a.(l) 2,89,436 (2 lakh, 89 thousand, 4 hundred and thirty six)
(i) 289,436 (289 thousand, 4 hundred and thirty six)
b.(I) 18,63,591 (18 lakh, 63 thousand, 5 hundred and ninety
one)
(i) 1, 863,591 (1 million, 863 thousand, 5 hundred and
ninety one)
Example IV : Write the number name of 32456718 in Indian place value
chartand International place value chart.

oo |oc|o

Solution

Lakhs fen Thousands Hundreds

en
Lakhs Thousands
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Ten " Hundred Ten
Millions Sl Thousands Thousands [lictsancapyitinaicce

3050

3 2 4 5 6 7 1 8

Number name inIndian place value chartis 3 crore, 24 lakh, 56 thousand,
7 hundred and eighteen.

Number namein International place value chartis 32 million, 456 thousand,
7 hundred and eighteen.

¢ SHIR C B F T 22

1. Rewrite the numbers by putting comma inIndian system.

a. 273264 b. 325211 c. 23654715
d. 1369458 e. 201634579

2. Rewrite the numbers by putting comma in International system.
a. 43658 b. 675269 c. 6189532
d. 92961485 e. 535315212

3. Write the numerals for the following numbers with comma in
proper places.

a. Onelakh, seventhousandand eighty

Three lakh, eleven thousand, three hundred and sixty three
Sixteen lakh, five thousand, three hundred and four

Six lakh, five thousand and seven hundred

Nine lakh, fourteen thousand, three hundred and sixty two

4. Write the number name for each of the following numerals in
Indian system.

a. 8,43,972 b. 14,00,009 c. 4,05,000
d. 8,97,810 e. 25,75,621

5. Write the following numberinwords inInternational system.
a. 65,637,413 b. 5,716,146 c. 302,405,978

d. 45,064,875 e. 863,120,350
19 \

™ o 0 T
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“Successor and Predecessor

Successor : The number that comes just after a given number is
known as its successor.
Predecessor The number that comes just before a given number is
known asits predecessor.
For Example:
Number Successor Number Predecessor
659 660 835 834
4,548 4,549 5,769 5,768
53,652 53,653 64,651 64,650

7,64,387 7,64,388 8,75,468 8,75,467
80,56,356 80,56,357 97,60,354 97,60,353

~Order Relation

Let us learn to compare numbers upto seven digits. First compare the digits
in the ten lakhs place, if a number has greater digit at ten lakh place is
greater than the numbers which have smaller digits at that place. If these
places are equal then compare the digits in the lakhs place. If a number has
greater digit at lakhs place is greater than the number which have smaller
digits at that place. If these places are equal then compare the ten
thousands place and so on upto ones place. It is also noted that a number
having greater number of digits is greater than the number having lesser
number of digits.
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Example V' . Comparethe number54,392and 71,568. ‘ o
Solution . Now, firstarrange the given numbersin place value chart. °
T-Th  Th H T O
5 4 3 9 2
7 1 5 6 8

54,392 has 5 ten thousands at its highest place, while 71,568 has 7 ten
thousands atits highest place.

7 tenthousands are greater than 5 ten thousands.
Therefore, 71,568 >54,392.
Example VI : Whichoneisgreater2,36,4500r2,17,340?

Solution . Arranging the given numbersin place value chart.
L T-Th Th H TO
2 3 6 4 5 0
2 1 7 3 4 0

At their highest place value, both the numbers have 2 lakh which is equal.
So, compare the ten thousands place. Since, both the numbers at their ten
thousands place have 3tenthousandsand 1tenthousand respectively.

Since, 3tenthousands > 1ten thousand,
therefore, 2,36,450>2,17,340.

| Ascpnclinq order and Doscpndinq Order

We can compare a set of given numbers in ascending order starting with the
smallest given number.

We can compare a set of given numbers in descending order starting with
the greatest given number.

Example VII : Arrangethefollowinggiven numbersinascending order.
21,035; 41,009; 65,107; 31,105; 50,009; 12,978
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o2 Solution . Arranging the given numbersin place value chart.
X 4 T-Th  Th H T 0
2 1 0 3 5
4 1 0 0 9
6 5 1 0 7
3 1 1 0 5
5 0 0 0 9
1 2 9 7 8
Comparing the digits at ten thousands place, we find
1<2<3<4<5<6.

Therefore, the given numbersinascending order are

12,978; 21,035; 31,105; 41,009; 50,009; 65,107.
Example VIII: Arrangethe following numbersindescendingorder.

51,067; 1,35,467; 3,24,516; 68,574; 77,874; 98,036

Solution . Arrangingthe given numbersin place value chart.
L T-Th Th H T O
5 1 0 6 7
1 3 5 4 6 7
3 2 4 5 1 6
6 8 5 7 4
7 7 8 7 4
9 8 0 3 6
Comparing the digits at lakhs place, we find
3>1.

Therefore, the numberin descending order are
3,24,516; 1,35,467; 98,036; 77,874; 68,574; 51,067.
Skip-Counting
Writing the series of numbers starting with a given number with a fixed
difference between two successive numbersis known as skip-counting.
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Example IX : Write the numbers from 67454 to 67464 by skip 3 %
counting of two. a
Solution . We can skip in the counting of two by adding in succession.

67454,67454 +2,67454+2+2,67454+2+2+2
67454 +2+2+2+2,67454+2+2+2+2+2
67454,67456,67458,67460,67462,67464

¢ HIGR C IS JE 7 23 4

Write the successor of the following numbers.

a. 82,120 b. 48,061 c. 19,000 d. 97,89,329
e. 9,50,200 f. 1,30,509 g. 547,480 h. 83,619
Write the predecessor of the following numbers.

a. 41,000 b. 39,000 c. 75219 d. 2,86,231
e. 4,75,020 f.  58,67,500 g. 19,400 h. 85,006
Fillin the blanks with <, > or =.

a. 41,643........ 41,739 b. 59,427 .............. 95,724

c. 38,403.............. 38,403 d. 40,329............... 49,969

e. 98,300................. 98,200 f.  69,063................ 69,063

g. 7,90,126................. 7,90,026 h. 8,89,026............... 8,97,826
Arrange the following inascending order.

a. 61,009; 61,097; 61,089; 61,807; 61,908

b. 4,05,709; 4,07,509; 4,09,509; 4,05,907,; 4,07,905
c. 73,07,908; 73,09,708; 73,07,980; 73,00,987; 73,08,970
Write the following in descending order.

a. 1,99,001; 2,06,709; 2,07,603; 2,09,709; 2,08,704;
b. 3,01,090; 3,04,000; 3,09,010; 3,02,090; 3,08,010
c. 60,309; 60,039; 60,930; 60,703; 60,390
Counting by fives, write the numbers from 2,570to 2,600.

Counting by twos, write the numbersfrom 6,10,250t0 6,10,260.
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Write the place value of each circled digit in the following numbers in
Indian system:

a.(6),56,36,557 b. 1(6),36,403  c.7,36,521 d.7,1(4),786
Write the place value of each circled digit in the following numbers in
International system :

a. (43,215,306 b.(2),537,403 «¢.(4) 38,632 d.34,107),562

\O

| RounJFmJ ofF Numbers

The process of expressing a number to its nearest convenient number is
called rounding offanumber and the expressed nearest value of a numberis
known asthe rounded value of the number.

Rounding off Number Nearest to Ten
While rounding off numbers to the nearest ten, follow the rules given below:

a. Ifthedigitintheonesplaceinanumberis5,6,7,80r9,thenrounditto
the nearest multiple of ten whichis greater than the given number.

b. Ifthedigitinthe ones placeinanumberisi, 2,3 or4,thenrounditto
the nearest multiple of ten which is smaller than the given number.

For Example: Each of the following numberis rounded to the nearest ten.

52 isnearestto 50, sowerounditto 50
104 isnearestto 100, sowe rounditto 100
1316 isnearestto 1320, sowerounditto 1320
3550 isnearestto 3560, sowerounditto 3560
5068 isnearestto 5070, sowe rounditto 5070

Rounding off Number Nearest to Hundred
While rounding off numbers to the nearest hundred, follow the rules given below :

a. Ifthedigitinthetensplaceinanumberis5, 6,7,80r9, thenrounditto
the nearest multiple of hundred which is greater than the given number.
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b. Ifthedigitinthe tensplaceinanumberisO,1, 2,3 or4,thenrounditto ® .a:;.
the nearest multiple of hundred which is smaller than the given number. ‘ '

For Example : Each of the following numbers is rounded to the nearest hundred.

281 isroundedto300 1540 isroundedto 1500
203 isroundedto200 1522 isroundedto 1500
240 isroundedto200 1543 isroundedto 1500

Rounding off Number Nearest to Thousand
While rounding off numbers to the nearest thousand, follow the rules given below:

a. Ifthedigitinthe hundredsplaceinanumberis5,6,7,8o0r9, thenround
it to the nearest multiple of thousand which is greater than the given
number.

b. Ifthedigitinthe hundreds placeinanumberis0, 1, 2,3 or4,thenround
it to the nearest multiple of thousand which is smaller than the given
number.

For Example : Each of the following numbers is rounded to the nearest
thousand.

4100 isrounded to 4000 6500 isroundedto 7000
5200 isroundedto 5000 5600 isrounded to 6000
6300 isroundedto 6000 4700 isroundedto 5000

¢ HIGIR C I JE T 24

1. Round each ofthe following numbers to the nearestten.

a. 13 b. 25 c. 76 d. 51 e. 76
f. 46 g. 57 h. 69 i. 91 j. 93
2. While rounding to the nearest ten, what numbers could be
rounded to?
a. 218 b. 632 c. 994 d. 5085 e. 867
f. 529 g. 188 h. 2527 i. 3975 j. 1828
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o2 é 3. Round each ofthe following to the nearesthundred?
o a. 141 b. 222 c. 330 d. 634 e. 743
f. 1892 g. 5676 h. 4350 i. 2488 j. 9765
4. Whilerounding to the nearest hundred, what numbers could be
rounded to?

(E.g.:800, numbers from 750to 799 and numbers from 801 to 849)
a. 1600 b. 4200 c. 32500 d. 54600 e. 72200
5. Round each ofthe following to the nearestthousand?
a. 8930 b. 9010 c. 4453 d. 19890
e. 15790 f 18701 g. 51643 h. 13299
i. 19175 j. 26318 k. 31513 |. 28963
6. While rounding to the nearest thousand, what numbers could
berounded to?
(E.g.:10,000, numbers from 9500 to 9999 and numbers from 10001 to
10499)
a. 15000 b. 27000 e. 50000 d. 85000

~Roman Numerals

Roman is an ancient civilization which had its own symbols for writing
various numbers. Sometimes, we see these symbols on the faces of clocks,
attherailway and bus stations.

The Romans used seven letters of the English alphabet in place of numbers.
The letters with their corresponding Hindu-Arabic numerals are given below:

Roman numerals I V X L C D M
Hindu-Arabichnumerals [} 5 10 50 100 500 1000

Using the seven symbols, all the numerals were built by adopting certain rules.
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Rulel :  Repetition of letters means addition. Some letters are e
repeated up to 3 times. The letters I, X, C and M can be 3
repeated at one given time.

ForExample : H=1+1+1=3;XXX=10+10+10= 30

Rule 2 . When a smaller letter is placed on the left of the bigger letter
it means subtraction.

e |canbesubtracted fromV and X only.
ForExample : IV=5-1=4,IX=10-1=9.
e Xcan be subtracted from Land Conly.
For Example : XL=50-10=40,XC=100-10=90.
e Ccanbesubtracted from D and M only.
For Example : CD=500-100=400
CM=1000-100=900
Rule 3 . The value of some numbers can be found by addition.
Actually, itis like our expanded form.

For Example :

a. L X X X V | I b. X C VvV I
ol b T
50 10 10 10 5 1 1 90 5 1
=50+10+10+10+5+1+1 =90+5+1=96
=50+30+5+2=80+7=87

c. C D

. -

400 3 =400+3=403
~ INFO ZONE

=

= O WhenaRoman numeral of small value is put between two numerals of
greater value, itis subtracted from the numeral on its right.

e.g. XIV=10+5-1 =14 XXIX=10+10+ (10-1) =29

‘ O The symbol Vis never repeated. Also itis never subtracted.
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5 Defects of the Roman system of numeration
1

Thereisnosymbol for 0inthe Roman system.
The Romans used only seven symbols, which are not sufficient to write
large numbers.

3.  We have to use many symbols even to write small numbers, e.g. : 8 is
writtenas VIlland 48 as XLVIII.

¢ IR C B E T 25 )

1. Write the Roman numerals for each of the following.
a. 51 b. 16 c. 29 d. 25 e. 39 f 42

L X 2

®e

g. 49 h. 55 i. 500 j. 205 k. 170 I. 183
2. Write the Hindu-Arabic numerals for each of the following.
a. XXXV b. XXXII c. LXXI d. XL e. XIX
f. XLV g. LXXX h. XC i. LIV j. XCVI
k. CX l.  DCI m. CCC n. DCCCI 0. CMXVI
3. Write the sum in Roman numerals.
a. XXXI+ IX S i, b. XXIX + XV =
c. XL +X T d. L + XXX =
e. XU +VI+VIl = ... f. X +XI = .

4. Change the Hindu-Arabic numerals into Roman numerals and
find the difference. Write the answer in Roman numerals.

a. 40-20= ... = e b. 50-21 =............ =

c. 35-15= ... = d. 45-18 =............ e

e. 41-30= ... = f. 100-70=............ e,
5. Fillinthe blanks with Roman numerals.

a. Aday...........coe.... hours.

b. Januaryhas.........c............. days

c. February........c............. (o] G days

d. Thereare........cccccunnn..... weeks in ayear.

e. Anhourhas....................... minutes.
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POINTS TO REMEMBER

The face value of a digitis the value of that digit in a number. &
A number gets its value according to its place in the number. :
There are two numbering systems : Indian system and International §
system. .
Successor is the number that comes just after a given number.

Predecessor is the number that comes just before a given number.

The process of expressing a number to its nearest convenient number
is called rounding off a number.

< The symbol Vis neverrepeated. Alsoitis never subtracted.

) R/ /
0‘0 0‘0 0‘0

) ) )
0’0 0’0 0‘0

1. Multiple Choice Questions (MCQs)
Tick (v') the correct options:

a. Thevalueof aplacetotheleft of anydigitinanumberis................

greater.

(i) S5times | (ii) 10times )

(iii) 50 times | (iv) 100times ®
b. Thegreatest5-digitnumberis................

(i) 999989 - (i) 99999 L2

(iii) 999999 J (iv) 999998 Ll
c. Thesuccessorofthesmallest 5-digitnumberis................ :

(i) 100001 ® (ii) 10001 .

(iii) 999999 J (iv) 100010 .
d. 1Llakhissameas..................... :

(i) 100thousand ® (i) 50thousand

(iii) 1000 | (iv) noneofthese L]
e. TheRomannumeralfor39is..................

(i) XXVII (i) XXXIX

(iii) XXVIII ] (iv) XXIX J
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Write the period, place value and face value of the circled digits.
a. 69509 b. 456101 c. 347296 d. 765894 e. 2475096
Write the following numbers in the expanded form.

a. 27463 b. 123570 «c. 504672 d. 700290 e. 432806

4. Write the followinginthe shortform.

- '
‘ 2.

w

a. 60000+2000+100+50+2 b. 3000 + 800 + 60
+9
c. 40000+3000+900+80 d. 500000 + 8000
+300+20+3

5. Write the number names for the following in the Indian system
of numeration.

a. 9312529 b. 268308 «c. 425760 d. 7286721 e. 1027657
6. Write the number names for the following in the International
system of numeration.
a. 5736836 b. 709786 «c. 678239 d. 2890745 e. 9726854
7. Make the largest and smallest numbers with the following
digits.
a. 2,6,0,4,9,5 b. 3,8,7,90,6
8. Round off each of the following numbers to the nearest 10, 100,
and 1000.

03

H\QUES> Which is the smallest 5-digit number that ends in 9 and reads the

f\w same way forward as it does backward? For example : 3443 reads
e the same way forward as it does backward.
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Activitye """

=

Objective : Toexplorethe writing of large number.

Materials : A 10 x 10 squared paper per child, a red and blue crayon for each

child and ascale.
Presentaltion:

*» Each child marks out an outline of 10 x 10

square with the red crayon.

% The teacher calls out 5-digit and 6-digit

numbers.

DA O[(0 |~ |LO|U

% All 5-digit numbers are to be written

horizontally with a red crayon, e.g.

seventy three thousand four hundred

ninety eight.

% All 6-digit numbers to be written

vertically in blue, e.g. five lakh ninety one
thousand eight hundred six.

R/
0’0

X/
0‘0

At least five or sixnumbers of 5 digits and 6 digits should be called out.
Allempty squaresto be shaded.
Cross number puzzles should be checked and displayed in the class.

R/
0‘0

)/
0‘0
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We already know how to add two or more 4-digit numbers. Now let's learn
the method of addition of 5-digit numbers and 6-digit numbers.

The numbers which are added together are known as addends and the
result after additionis known as sum.

Addition of 5-diqit, Numbers and
6-473?(, Numbprs?without CQN‘H Over)

Example I : Add52,416and43,373.

Solution : Putthenumbersinthe columns correctly.
T-Th| Th H T | O
5 2 4 1 6 |——Addend
+ 4 3 3 7 3 |——Addend
9 5 7 8 9 |——Sum

Step 1 : Addtheones;6ones+3ones=9ones
Write 9inthe ones column.
Step 2 : Addthetens;1ten+7tens=8tens

Write 8 in the tens column.

Step 3 : Addthe hundreds; 4 hundreds + 3 hundreds =7 hundreds
Write 7 in the hundreds column.

Step 4 : Addthethousands.
2 thousands + 3 thousands =5 thousands
Write 5 in the thousands column.

Step 5 : Addthetenthousands.
5tenthousands +4 tenthousands =9 ten thousands
Write 9in the ten thousands column.

Therefore, 52,416 +43,373=95,789.
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1. Addthefollowing numbers.

2 v v o R LT T K T o
8 5 4 6 2 7 6 5 4 8 6
+6 7.3 .8 4. +9. .8 3. 4.7 5.
© T IO
5 4 7 6 4 8 3 2 1 3 5

+4 1 2 3 1 + 7 8 6 9 4 7

2. Arrange the followingin column and add.
a. 7,56,124;31,442and 1,230 b. 32,031; 20,306and 1,312
c. 2,10,413;1,34,212and 43,230 d. 21,430;17,214and 30,323

Addition of 5-diqit Numbers and
6-di3it Numloors}with Carry Over)

Example IT : Add 259453 and578539.
Solution : Putthe numbersinthe columns correctly.
LT-ThTh HTO
11 1
2 Bl 5K BIR
+ Bl M BB BB
2 Bl M El B2

Step 1 : Addtheones;3ones+9ones=12ones=1ten+2ones.
Write 2 in the ones column and carry over 1 ten to the tens
column.

Step 2 : Addthetens;5tens+3tens+1ten(carried over)=9tens.
Write 9inthe tens column.

Step 3 : Addthe hundreds; 4 hundreds+5 hundreds =9 hundreds.

Write 9in hundreds column.
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Step 5

Step 6

Example IIT :

Solution

: Addthethousands;9thousands+ 8 thousands

=17thousands=1tenthousand+ 7 thousands.
Write 7 in the thousands column and carry over 1 ten
thousandtotenthousands column.

: Add the ten thousands ; 5 ten thousands + 7 ten thousands

+1tenthousand (carried over) =13 tenthousand
=10tenthousands + 3 ten thousands
=1lakh+3tenthousands.

Write 3 in ten thousands column and carry over 1 lakh to
the lakhs column.

: Addthelakhs: 2 lakhs + 5 lakhs + 1 lakh (carried over)= 8 lakhs

Write 8 in the lakhs column.
Therefore, 259453 +578539=837992.
Findthesumof4,32,152; 3,26,748and 1,73,425.

@ @ @ @
4 3 2 15 2
326 7 48

+1 7 3 4 25
9 3 2 3 25

Therefore, 4,32,152 +3,26,748+1,73,425=9, 32, 325.

BLONBIOEY

1. Addthefollowing numbers.
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2. Findthe sum ofthe following numbers.
a. 6 386 7| b 36952 ¢ 556 79
+781309 + 4786 8 + 27887
d 26783 ¢ 61387 f 785 32
6 785 27679 1235
+ 6 9 4 + 3572 + 7932

3. Findthe sum ofthe numbers given below.
48,285; 61,500and 76,178

1,59,878; 32,456and 1,45,871

25,732; 4,27,931and 13,456

18,25,140; 21,50,511and 32,75,767
4,67,464; 3,24,505and 1,28,634
2,74,876; 3,06,452and 3,18,514

ProPm‘tips of Addition

1. The sum of two numbers does not change, if the order of addends is
changed.

o a0 oo

For Example : 1 1
& 4 3 S5A 2F 3 4 79
B2 3 4 796 4 4 3 598
S> 7/ 38 28 B 7 8 2

Therefore, 44353 +23476=23476+44353=67829.
2. The sum of three or more numbers does not change if their order is
changed.
ForExample : a. 24638 + 39235 + 13436 = 77309
b. 24638 + 13436 + 39235 = 77309
c. 13436 + 24638 + 39235 = 77309
d. 39235 + 24638 + 13436 = 77309
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In the example, it is observed that if the addends are arranged in
different order even then their sumis alwaysthe same, i.e. 773009.

3. Additive Property of Zero (0): Addition of zero (0) to any number is the

number itself.
For Example : 6 51 4 2

.............................

Therefore, 65142 +0=0+65142=65142.

Addition of Numbers in Expanded Form

Example IV: Add 9 hundredsand 73 tens.
Solution : 9 hundreds = 9 hundreds
+ 73 tens = 7 hundreds + 3 tens

Example V : Add 18 thousands, 12 hundreds and 46 tens.

Solution : 18 thousands = 18 thousands
12 hundreds = 1 thousand + 2 hundreds
+ 46 tens = 4 hundreds + 6 tens

1tenthousand 9thousands 6 hundreds9tens
Example VI : Find the sum of 6 ten thousands, 16 thousands and 24 hundreds.

Solution : 6 tenthousands= 6 tenthousands
16 thousands = 1 tenthousand + 6 thousands
+ 24 hundreds = + 2 th. + 4 hun.

Answer : 7tenthousands 8 thousands4 hundreds

¢ iR e 78S E Y 33
1. Fillintheblanks.
a. 51117+30251= ...l +51117

b. 85803+ ... =385883
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12435+ ......ccciiinnin, = 4265+12435 ® 'ei;.
(O = 61212 ‘ .
16458 +23487+0 T rrrreeeernreaeenns +0+16458
2450+ 24568 +3250 = 24568+ .........ccccnni. + 2450
71201+ ...l +607 = 607+71201+70594

ind the sum of following.

25thousandsand 14 hundreds

34 thousands, 2 thousands and 25 hundreds

52 thousands, 14 hundredsand 13 tens

86 tenthousands, 13 thousandsand 57 hundreds

“Word Problems on Addition

Example

Solution

VII : The price of a car is I 2,87,970; the price of a bike is
334,536 and the price of a van is T 93,365. Find the total
price of three vehicles. 2 1 1 1 1
: Thepriceofacar - T 2 8 7 9 7 0
The priceof abike = 4 3 4 5 3 6
The priceofavan =|+ % 9 3 3 6 5
T 4 1 5 8 7 1
Thus, total price = 3(2,87,970+34,536+93,365)

Answer : Total price of three vehiclesis<4,15,871.

Example VIII : In a city, there are 2,82,678 men; 1,98,972 women and

Solution
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4,32,176 children. Find the total population of the city.
2 1 1 2 1

: Number of men = 2 8 2 6 7 8
Numberof women = 1 9 8 9 7 2
Number of children = + 4 3 2 1 7 6
The population of the city 9 1 3 8 2 6

=(2,82,678+1,98,972+4,32,176)
Answer : Total population of the cityis9,13,826.
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1. Vikram bought a washing machine for % 41,250, a camera for 18,999
and a Microwave oven for 19,999. How much did he spendinall?

2. Inan Examination five students got 419; 397; 416; 535 and 487 marks
respectively. How many marks, in all, they got?

3. Onabookfair3,26,118 people visited a book fair on Monday. 1,42,325
peoples visited the book fair on Tuesday. How many people visited the
book fair on the both days?

4. A public library has 29,520 books in Science and 5,12,503 books in
otherlanguages. How many book does the publiclibrary have?

5. Nishaearned<1,52,500 last year and < 2,25,200 this year. What is her
total earning altogetherinthe both years?

6. In an examination, 1,12,428 students passed, while 81,093 students
failed. How many students appeared in the examination?

7. A door-lock manufacturing factory produced 61,975 door-locks in
2012; 1,12,121 door-locks in 2013 and 6,01,228 door-locks in 2014.
How many door-locks did the factory produce in three consecutive
years?

8. According to a report, there are 7,55,812 men; 4,42,189 women and
3,95,013 kidsinacity. Whatis the population of city as per report?

HPOINTS TO REMEMBER maeeee s

7
0‘0

The numbers which are added together are called addends and the
result of addition is called their sum.

If we add zero to any number, the answer is the number itself.

7
0‘0

If we add 1 to any number, we get the successor of the number.

R/
%

R EEE EEXEEEE:

W
*
*
*
*
*
*
* )
*
*
*
*

In addition, the order of addends can be changed, but the sum wi
remain the same.

*

e

YU

1

R/
hS

f
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1. Multiple Choice Questions (MCQs)
Tick (v') the correct options:
a. Add9hundredsand96tensisequalto....................... :
() 18hundreds+6ones |(ii) 9hundreds+6tens
(iii) 18 hundreds +6tens J(iv) 9 hundreds + 2 tens
b. 3,52,460+1,79,997=3,52,460+.........ccccoc........ :

() 5,29,521 | (i) 1,79,460

(iii) 3,52,460 J (iv) 1,79,997 |
c. Add6,73,492and2,96,819isequalto....................... :

() 8,70,311 - | (i) 9,71,312

(i) 9,70,301 - | (iv) 9,70,311
d. Add4,98,728and 3,85,478isequalto....................... .

(1) 8,84,306 | (i) 8,84,216

(iii) 8,82,406 J (iv) 8,84,206 ]
e. Ifzeroisaddedtoanumber, itsvalueremainsthe....................... .

(i) same | (i) different

(i) zero | (iv) noneofthese |

2. Write each ofthe following in columns and add.
a. 83081+36937 b. 72363+24556 c. 44538+51834

d. 264263+54028 e. 7385948918289 f. 192875+452648
3. Addthenumbersin (i) and (ii) of each and compare the sums.

a. (i) 53289+23598 (ii) 23598 +53289
b. (i) 29238+47508 (i) 47508+29238
4. Fillintheblanksto make the statements true:
a. 26572+27873=27873+............ b.307899 +............ =307899
c. 24573+12780+11992=12780+24573+.............
d. 45325+23719=45325+............ e.0+......... =245792
f. 317+32578+124679=32578+............. +124679
g. 82881+71991=71991+.............c...e
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h. 32742+25732+12724=25732+12724+.................
o e, +24678+3253=24678+................ +2468
jo 11220+........eeees +1244=1244+ ................ +3452

Estimate the sum by rounding off the numbers to nearest
thousand and compare the sum with the actual sum also.

a. 3571+4385 b. 5813+1768 c. 11093+22365
d. 6715+3238 e. 50945+66045 f.  62873+51025
Solve the following.

a. Sher khan bought a plot of land for I 567160. A building was
constructed onitforI412112. Find the total cost.

b. A function is to be attended by 60000 people. On the ground
31250 red chairs and 52850 blue chairs have been arranged. How
many chairs have been arrangedinall?

HaTe)
‘”\\T | am the greatest 5-digit number in which each digit is greater than
% the one before it. Which number am I?

Objective : Tounderstand in estimation and addition of 5-
Aetwutgf ;

Presentatlon :

Lah T

digit numbers.
Materials : Papersand pencils

K/
0‘0
/7
0‘0

)
0‘0

)
’0

X3

*¢

7
0‘0

7 7
0’0 0‘0

)
0’0

)
0.0

- e an En En e s s s En Eh G G e e PGP Gh G G G P P PGP G G G e e G @ w @
L)

This activity will be done in pairs.

The teacher will write many addition problems on the blackboard.
E.g.31852+42836

One of the students from the pair will do the addition sum.

The partner will round off the numbers and give the estimated sum.
Both the answers will be compared.

Theresults will be noted in the notebook.

Find the Roundingoff | Estimated | Actual Whichiis
sum numbers sum sum greater?
31852 +42836 |30000+40000 70000 74688 74688

Many such sums will be done.
The partners can take turns for finding the estimated sum and the actual sym.
Accuracyinfindingthe sumisimportant.
The pair which completes all the given problems first (accurately),

will be the winners.
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We have learnt the subtraction of numbers upto four digits. Now, let us learn
the subtraction of 5-digit numbers and 6-digit numbers.

Minuend: The large number from which the smaller number is subtracted
is known as minuend.

Subtrahend: The number which is subtracted is known as subtrahend.
The Result of Subtraction: Difference between the minuend and the
subtrahendis known as the result of subtraction.

~ Subtraction of s-diqit and 6-di3it
Numbers (without Borrowincl)

Example I: Subtract32,274from 65,497.

Solution

Step 1

Step 2

Step 3

Step 4

Step 5

A Gateway o Mathematics-4

: Subtractthe tens.

: Write the given numbers in columns with the greater number

ontop. Putthe numbersinthe columns correctly.

: Subtractthe ones.

7ones—4ones=3ones Th
Write 3inthe ones column.

> Minuend

+ Subtrahend
9tens—7tens=2tens

Write 2 inthe tens column.

Ww(N |
N[N | D |T
N[O |-
w hINO

» Difference

: Subtractthe hundreds.

4 hundreds—2 hundreds =2 hundreds
Write 2 inthe hundreds column.

: Subtractthe thousands.

5thousands—2thousands =3 thousands
Write 3inthe thousands column.

: Subtractthe tenthousands.

6tenthousands—3tenthousands=3tenthousands
Write 3inthe ten thousands column.
Therefore, 65,497—-32,274=33,223.

)
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Example IT : Writethe missingnumbersinthegivensubtraction.
L TThTh H T O

7 6 5 9 4 «<— Minuend

-5 D D 1 3 D<—Subtrahend
|5 a4 | || | 3 «— Difference

Solution :  Ifthe subtrahend is missing, then the difference is subtracted
from the minuend.
i.e. Minuend — Difference = Subtrahend
4 — 3 = 1
8 — 4 = 4
6 — 5 = 1
and Minuend — Subtrahend = Difference
9 — 3 = 6
5 — 1 = 4
7 — 5 = 2
Therefore,
LTThTh HTO = LTTh ThHTO
7 6 8 5 94 7 6 8 5 94
-5 /[ J13] -5 1 4131
15 4 [ ][ 3 2 5 4 463

oRBILY

1. Subtractthe following numbers.

“TTh Th HT OP-TThTh HT O“ TThTh HT O
3 56 8 7 6 6 5 7 9 7 4 5 7 6
-2 3551 -2 3242 -3 146860
| ) | ) | ]
d L TThThHTO L TThThHTO® LTThThHTO
8 7 3698 9 5 9588 9 5 6497
-5 2 1053 -6 2 7461 -4 1 2140
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2. Arrangeincolumns and subtractthe following. <
2. 82.150—39,250 b. 37.563-24151 ®
c. 2,31,568-1,00,314 d. 57,889-36,643
e. 5,21,320-3,17,205 f. 1,56,876—41,451

3. Findthedifference when...
a. Minuend=94,765and Subtrahend=42,132.
b. Subtrahend=3,23,517and Minuend=7,48,859.
c. Subtrahend=35,241and Minuend=59,678.
d. Minuend=7,67,894 and Subtrahend =3,45,461.
4. Write the missing numbers in the given subtraction.

L T-ThTh HTO P L T-ThTh HTO ¢ L T-ThTh HT O
6 7 8 8 95 6 8 5 974 4 5 8 763

J 2 8[ 13 -4 1 a[ h -3 2 [Js 1
(4 3 o s ] ] 2 3] @] 1 32}
d. TTh Th HT O T-ThTh H T O TThTh H T O
6 4 58 7 5 4 367 7 6 85 4
- 213 -[13[Jal]-4 4 1
2 1 3 3 113 | A

 Subtraction of 5-413&, and 6-413&,
Numbers (with Borrowinq)

Example III: Find the difference between 146762 and 84528.

Solution . / QL))h Th H CT.;) @02 \ <—— After borrowing
1 6 2
2 8
3 4

<—— Minued

<— Subtranend

4
— 8
6

N [D o
N (O

<— Difference
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Step 2
Step 3

Step 4

Step 5

: Subtracting the ones :- we can not subtract 8 ones frm 2

ones.
So, we borrow 1 ten from 6tensleaving behind 5 tens.
2ones+1ten=2+10=12ones.
Now, 12 ones-8ones=4ones.

: Subtractingthetens:-5tens-2tens=3tens.
: Subtracting the hundreds :- 7 hundreds - 5 hundreds = 2

hundreds.

: Subtracting the thousand :- 6 thousands - 4 thousands = 2

hundreds.

: Subtracting the ten thousands :- We can not subtract 8 ten -

thousands from 4 ten -thousands.

we borrow 1 lakh from lakhs place and hence nothing
remains there.

4ten-thousands+1lakh=(4+10)ten-thousands
=14 ten-thousands.

Now, 14 ten thousand - 8 ten - thousands.
=6ten-thousands.

Hence, therefore, 146762 -84528 =62234

Example IV : Whatnumberis 4,069 lessthan 57,0347

Solution

Therefore therequired number =5 2

Required number is the difference between the given

numbers.
£ TThTh H T 0\
® 9 1
5 7 0 3 4
L 4 0 6 9
9 6 5

Hence, required numberis 52,965.
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Example V : Whatnumbershould be addedto 16587 to get 183457 -
Solution : Required number is the difference between the given numbers.
T-ThTh H T O
Therefore, 1758 should @ 12 13 @9
be added to 16587 to get 1 .8 3 4 .5
18345. R 1 6 5 8 7
A 1 7 5 8

1.Subtractthe following. @0@ wi m

“TTh Th HT OB TThTh H T O“ T-ThTh H T O
8 4 3 4 5 8 532 4 9 8 7 5 3
-4 5898 -4 5727 -5 7869

2. Arrangethe numbersin columnsand subtract.

a. 24,056and 43,741 b. 31,537and65,948
c. 57,687 and 82,345 d. 68,670and1,45,250
What numberis 1,013 lessthan 15,0027

What numberis 2,787 lessthan 18,0007

What number should be added to 14,357 toget 19,2367

ik w

Rules of Subtraction

1. Order of numbers
The order of the numbers, to be subtracted and the number from which
itisto be subtractedisimportant.
ForExamples : 98—-10=88but10-98="7
Similarly, 6,534—-297=6,237 but 297-6534="
2. Subtracting zero
If we subtract 0 from any number, the answer is the number itself.
ForExamples : a. 95-0=95 b. 892-0=892 c. 7,538-0=7,538
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5 ‘@ 3. Subtractmg 1
‘ Find the difference between 254382 and 368997
Here, the number 368997 isthe minuend and 254382 is the subtrahend.

L T-THTH H T O

3 6 8 9 9 7 <—— Minuend
Wi 5 4 8 2 <—— Subtrahend

3
A | 1 4 6 1 § & <— Difference

Subtracting ones :
Subtracting tens :
Subtracting hundreds :
Subtracting thousands :
Subtracting ten-thousands :
Subtracting lakhs :

1
DD U1 B WO
I

W O\ OO O I
I
— B OV Ul

Thus, 368997 -254382=114615.
4, Subtracting a number fromitself
If anumberis subtracted fromitself, the answer we getis zero.
For Examples : a. 8,573-8,573=0 b. 14,585-14,585=0
c. 4,22,427-4,22,427=0
5. Subtracting 10, 100, 1000 etc.
While subtracting 10, 100, 1000 etc. from a number, notice the change
that comes aboutinthe digitsinthe appropriate places only.
ForExamples : a. 12,365 - 10 = 12,355
b.12,365 - 100 = 12,265
c. 12,365 -1,000 = 11,365
6. Subtraction facts
For each addition fact, we get two subtraction facts.
ForExamples : a. If4,310+5,415=9,725,
then, 9,725-4,310=5,415and 9,725-5,415=4,310.
b. 1f32,314+55,163=87,477,
then, 87,477-32,314=55,163and 87,477 -55,163 =32,314.
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= O Inasubtractions problem, the order of the numbers in very important 3 o

for example, 6-5 is not the same as 5-6.

¢ HIGIR C IS JE T 43 )

1. Fillintheblanks:
a. Thegreaternumberinsubtractioniscalled......................
b. Thesmallernumberissubtractioniscalled......................
c. Minuend-.......cccooeeoee. = Difference.
2. Subtractthe following:
a. 38657-24325 b.23578-12422 c.24895-20044
d. 834594-323453 e.25723-14412 f.456794 -325324
g. 78956-34515 h.785489-342356 i.957528-743417
j.  875690-324210
3. Findthedifference between:
a. 58764and 43254 b.895943and 672323 ¢.98548 and 43225
d. 792593 and 52462 e.75685and43423 . 859723 and 645612

~Addition and Subtraction Toqpthpr

While doing a sum where both addition and subtraction are involved, we
first rearrange the numbers which are to be added and then subtract from

the result. We solve the sum step by step to make it easy.

Example VI : Add32573,24115and41211.

Solution : Write the given numbersin proper columnsand goonadding
ones, tens, hundreds, thousands and ten thousands.

T-ThTh H T O

2 5 7 3 <—Addends

4 1 1 5 <—Addends

1 2 1 1 <—Addends

7 8 9 9 <—Sum

L 3+5+1=9o0nes

— > 7+1+1=9tens

» 5+ 1+ 2 =8hundreds

» 2+ 4 +1="7thousands

» 3+ 2+ 4 =9 ten-thousands
Hence, 32573 +24115+41211=97899.
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.;};‘ 5ExampleVII: Subtract 34217 from 87045, and check the answer by
’ addition.

Solution : The difference of 87045 and 34217 is 52828. If we add this
difference (52828) to the subtrahend (34217), we get the
minuend.

T-ThTh|H |T|O T-ThTh |[H [T | O

8 27 % B4y 5 | 728 | 24 8 |«— Difference
- 314|12[1]7 +| 3|14 |2 |1| 7 |+— Subtrahend
512(8(2|38 81 71|0|[4|5 j«— Minuend

The given sum shows that our answer is correct.

¢ SHIGIR C IS JE T 44

1. Fillintheblanks:
a. Thenumberstobeaddedarecalled...................
b. Theresultobtained afteraddingiscalled.....................
C. 41527+0=....ccccvveninnnnnn
d. 13240+1751=...ccccuvvrunnnnnnn.

2. Add:
a. T-Th Th

HTO b. T-ThTh H T O
7 3 2 5 4 2 3 3 2 4
+ 1 2 1 2 + 3 1 2 3 0
+ 1 3 2 1 2 + 1 2 1 1 2
C. 2 3 1 0 5 d 2 3 4 1 2
+ 1 3 2 5 0 + 3 2 1 4 3
+ 3 1 6 3 2 + 1 0 0 0 1

3. Findthesum:
a. 23123,11001and 21302 b. 32101,12301and 1032
C. 21031,12301and 32211 d. 301242,123310and 10002

~
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“Word Problems on Subtraction

Example VIII:Nisha deposited< 56,870 in her bank account. Later on, she
withdrew ¥ 32,965 from the bank. How much money is
therein her bankaccount now?

. . (5) @8 ()
Solution : Totalamount deposited = 56 870
Amount withdrawn == 32 9635

The balancein herbankaccountnow= | ¥ 2 3 9 05

Example IX : The price of a mobile is¥ 56,850 and the price of a Laptop is¥
98,540. How much more is the price of laptop than that of

mobile?
. . (7) @4 a8
Solution : The price of laptop = ¥ 98540
The price of mobile =-X 56 850
The difference in their price = ¥41690
Therefore,398,540—-3 56,850 = T 41,690

¢ HIGR IS 1E T 45 )

1. Therewere 84,678 peopleinavillage. Out of this 27,546 were children.
How many adults were there in the village?

2. The difference of two numbers is 6,284. If the larger number is 53,975.
Find the smaller number.

3. Iftheannualincome of Nitinis¥2,45,875 and his annual expenditure is
< 88,975. Find the annual saving of the Nitin.

4. There are 7,95,008 applesin a cold storage. If 3,72,976 apples are sold

out of them, then how many apples are leftin the cold storage?

What must be added to 66,842 to get 80,0007

The population of a city is 6,35,188. There are 1,34,775 men and

2,45,928 are women. The remaining are children. How many childrens

arethereinthecity?

7. Ifanumberissubtracted from 48,632 and the resultis 32,428. Find the
number whichis subtracted?
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. 8. Sneha has< 8,99,001 with her. She buys a house for I 6,88,994. How
‘ much balance does she have now?

<  When we subtract 1 from a number, we get the predecessor of the
number.

< When anumber is subtracted from itself, the answer is zero.
< There are two subtraction facts, for each addition fact.
< Inasubtraction problem, the order of the numbers is very important.

% When we subtract zero from a number, the answer is the number itse&

§ For example : 75 - 30 is not the same as 30 - 75. %
A\ =
o ) RECAP EXERCISE ..
1. Multiple Choice Questions (MCQs)
Match the following:
i 84345-45897 <. a. 2206
i 2454 -248 b. 62210
i 146762-84529 T.»C. 38448
iv. 245892-183682 d. 62233
2. Subtractthe following:
a. 67 54338 b. 543829
-2342 89 -2352972
C 57 4382 d 78 29514
- 240509 -23 5292

e. 40588-31944  f.894532-52466 g.246802-129468
h. 230494-151247 i.254329-24965 j.405090-295468

3. Subtractand verify the answer:
a. 342578from 825219 b. 246589 from 725492
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C. 123578 from 342542 d. 246802 from 300000
e. 200006from423285
4. For each of the following addition facts, write two subtraction facts.

a. 6,312+1,136=7,448 b. 1,065+7,232=8,297
c. 23,323+15,169=38,492 d. 34,164+43,265=77,429
5. Solvethefollowing.
a. 2,319+5,368-3,479 b. 1,865+2,973-946
c. 58,641-16,329+24,986 d. 27,989-14,674-11,008
6. Subtracteach ofthe following and check the answer by suitable
addition.
a. Th/ H| T|O Th|H |T |O
8/ 0[0]0 g
-1 6[13]2]5 +| 6 (3|2 5“
b. T-ThTh | H|T|O T-ThiTh|H [T| O
2] 91 1]2[1
- 1/ 6| 8|74 + 1| 6| 8| 7| 4
] J

7. Solvethe following word problems.

a. A train was travelling from Jaipur to Lucknow 375 km away. There
were 9,756 passengers in the train, of which 1,268 were children.
How many adults were there in the train?

b. In a courtyard 15 metres long and 12 metres broad, a rangoli was
made with 2689 flowers. There were 1956 red flowers and the rest
were white. How many white flowers were there in the rangoli?

8. Solve the following.

a. Whatshould beaddedto 6928 to makeit 10000?

b. From which number should we subtract 4813 to get 3247 as the
difference?

c. Whatnumberis2794 lessthan 150007
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" Place value of 0 is always 0O, Whichever place it occupies.

@ Rearrange the digits of the number 9,2,8,0,5 to form the greatest
and the smallest possible numbers. Also find their sum and difference.

Objective : To understand the concept of addition and subtraction as

R

opposite operations, by checking subtraction using addition. :

Materials Required : Spike abacus with 4 spikes and four different coloured beads 1

(many beads of each colour)
Presentation:

% Thisactivity willbe done in groups of 7 to 8 children.

< Each group will be given a spike abacus and many
different coloured beads.
» The teacher will write a subtraction sum on the
blackboard.
For Example : 6795 — 3462. The students will put
the beads as per the first number, i.e. 6795 on the
abacus.
% Then, another student will remove the beads from
those on the abacus as per the second number, i.e.
3462.So, the number of beads leftis 3333.
Theresult will be noted as 6795—-3462 =3333.
All the beads will then be removed.
The teacher will write on the blackboard 3462 and
3333 and ask the children to add to find out if
subtractionis correct or not.

>

o,

D)

7 K/ R/
0’0 0‘0 0’0 D)

R/
0'0

X/
0‘0

%

*

Theresult willbe noted as 3462 +3333=6795.
% Thesubtraction sumis thus verified.
More such problems will be given and solved.

0

Th H T (o)
6 7 9 5
Th H T o
3 3 3 3

The student will put the beads on the abacus as per the first number which is 3462.
Another student willadd more beads as per the second number which is 3333.
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(oncp?t of Mulf,iylicgtion

Multiplicationis a short form of repeated addition of the same number.
Forexample:-11+11+11+11+11+11=660r11x6=66.
1. Numberscanbe multipliedin any order, the product remains the same.

For Example:
a. 7x5=35and5x7=35 b. 9x8=72and8x 9=72
Therefore,7x5=5x7 Therefore,9x8=8x 9

2. Ifthe multiplication method, the product remains the same even it order
of multiplicand and multiplier is changed. On changing the grouping of
numbers.

For Example:
a. 7x11=77
b. (3x10)x7=3x(10x7)=210
This propertyisalso known as associative property of multiplication.
3. Theproductofany numberand1isthe numberitself.
For Example:
a. 12x1=1x12=12 b. 15x1=1x15=15
These facts well known as unitary property of multiplication.

4. Whenanumberis multiplied by 0, the productis 0. Hence the product of

anumberand zerois zero.

For Example:

a. 16x0=0x16=0, b. 8x0=0x8=0
Thisisknown as zero property of multiplication.

~
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Multiplication by 10, 100, 1000 etc. 8
In order to multiply a number by 10, we write the number and 0 to the right ‘ o
side of the number. Similarly, we add 00 to the right side of the number while
multiplying a number by 100. In the same way, we can multiply a number by
any multiple of 10.
For Example:

a. 135x10=1350 b. 243x100=24300

c. 6485x1000=6485000
Multiplication by 20, 30, 40, 50 etc.
To multiply a number by 20, 30, 40, 50 etc., we multiply the number by 2, 3,
4,5 etc.andadd azero (0) totheright side of the product.
For Example:

a. 375x20=7500 b. 997x30=29910

c. 289x40=11560
Multiplication by 200, 300, 400, 500 etc.
To multiply a number by 200, 300, 400, 500 etc., we multiply the number by
2,3,4,5etc.and add two zero (00) to the right side of the product.

For Example:

a. 214x200=42800 b. 234x300=70200
In the same way, we can multiply a number by 2000, 3000, 4000 and so on.

| Multiflicgtion of 3-&13?{, Numbep
ba Q 2-4?1?'6 Number
Example I : Multiply 232 by 32.

Solution : Arrangingthe numbersfor multiplication.
232 <_Multiplicand
X 32 Multiplier

L ale
464 (Productof232x2 = 4 6 4)
+ 6 960 “(Productof232x30 = +6 9 6 0)
\:«\‘7 4 2 4 «—(Sumoftheproduct = 7 4 2 4)

Therefore, 232 x32=7424.
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& MU'tIF'ICQtIOn of 3-&13#, Number
b diqit Numb
y 2 3-diqi Number
Example IT : Multiply 225 by 120. _
Solution :
We know that 120=100+ 20 ﬁg
Now, 225x120=225x(100+ 20) 2
=225x100+225x20 4500 — (oo nah)
=22500+4500=27000 22500 «— (225 x 100)
Thus, the product of 225and 120is27000. 27000 «— (225x120)
Example IIT : Multiply 2342 by 125.
Solution : Weknowthat125=100x20+5.

Now, 2342x125=2342x(100+20+5)
=2342x100+2342x20+2342x5
=234200+46840+11710=292750

This can be put as follows :
2342
x125

11710 «— (2342 x5)
46840 «~— (2342 x 20)
234200 «—— (2342 x 100)
292750 «— (2342 x 125)

Hence, 2342x125=292750.

¢ St IR c IS T Y i

1. Find the products ofthe following.

a. 6x180 b. 15x1800

e. 3x1200 f. 17x%x3000
2. Fillinthe blanks.

a. 65x200 =........ccccooiiiiiiiiiiin.

c. 15x7000 =......ccovvviiiiiiniinnnnn.
3. Multiply the following.

a. 175x15 b. 225x225

e. 175x70 f. 158x212

~

C.
g.

o

22x2200 d. 5x400
24 %240 h. 19x900

11x900 =.. ..o,

. 28%1000=.........ccceiiiiiiiiiiinnnn.

121x221 d. 321x35
250x 150 h. 325x275
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Multiplication of lp-cliclit Numbep g
|°U 1-413% Number
Egﬁ:?i'z,lﬁ IIT : : I_\I_/I#IHp_II_y8596by7.
35096
s 1 ;Z (Product of 3596 x7=25172)
Multi‘alication of lp-cliciit Number
bu Q 2-473?6 Number
Example IV : Multiply 3462 by 34.
Solution : ThHTO
3462
X 34
DLW ey
13848 (3462 x4 = 13848)
+103 8 60 (3462 %30 =+103860)
‘117 7 08 (SumofProduct = 11770 8)

Multi\oncgtion of h-diciit Number
BU Q 3-Ji¢)it Numberp

ExampleV Multiply 3247 by 131.
Solution : ThHTO
3247
x 1 31
W@ DO
3247 (1x3247 = 3247)
97 4 10  (30x3247 = 97410
+3247 00 (100x3247 =+324700)
225357 (SumofProduct 425357

Therefore,3247x131=425357
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.;:e' Example VI : Thereare 256 flatsin a colony. The cost of white washing one
X ; flatis 280.
What will be the total cost of white washing all the flats?
Solution : Number of flats in the colony =256

Cost of white washing one flat= 280.
Cost of white washing all the flats =3 (280 x 256)

=3 71680
280
X256
1680
+1 400 x
+56 0 xx
71,680

Thus, the cost of white washing 256 flats = ¥ 71680.

¢ SHIGIR C 8 F T 52

1. Multiply the following.

a. 6246x5 b. 2758x7 c. 2628x8 d. 6258x9
2. Multiply the following.

a. 7892x32 b. 3268x24 c. 5816x19 d. 2127x62
3. Multiply the following.

a. 1887x121 b. 5172x267 c¢. 3879x155 d. 6246x325

~Continued Product (Mult,i?licgtion)

Example VII: Find 184x12 x4,

Solution : Multiply the first number 184 by the second number 12.
H T O
1 8 4
X 1 2
@ @
3 6 8
+ 1 8 4 0
‘2 2 o 8!

The productis 2208.
Multiply the product 2208 by the third number 4.
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x 4 3
18832

5184 %x12x4=8832.
Example VIII: Findthecontinued productof275,52,62,9.

Solution
275 ~ ,14300 . 886600
x 52 x62 | x9
@O ) 17979400 |
550 28600
13750 —' 858000 —
‘14300 | 886600 |

.. 275%x52%x62%x9=7979400.
Simylificgtion
Can you do the following sum?

Example IX : Simplify 80—-7x 2+4x 3+6—35.

Solution : You have done sums involving both addition and
subtraction. In the sum given above, you have to do
multiplication as well. For proceeding ahead, you need to
follow some stepsin the following order.

Step 1 : Firstdothe multiplication and write the product.

The sumis now simplified into one involving only addition and
subtraction.

Step 2 : Separate all the numbers with '+' sign in front and all the
numbers with '='sign in front. The first numberin the sum
does not have asign. Itis considered to have the '+'sign.

Step 3 : Add all the numbers with '+' signs. Add all the numbers with

59\
)
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Example X
Solution

Now, you have two numbers. Subtract to get the simplified

number.

=80-14+12+6-35 (Step 1 -after doing

multiplication)

=80+12+6—-14—-35 (Step 2 -afterseparating numbers
with'+'and '-'signs)

=98 — 49 (Step 3 - Adding numbers with '+' signs,
adding number with = signs)

=49: Answer

Simplify 7x 5-5x 4-9x 7+10x 11+8x 2.

7%x 5-5x 4-9%x7+10%x11+8x 2

=35-20-63+110+16

=35+110+16-20-63

=161-83=78

Answer:78

~Word Problems on Multi‘:licgtion

Example XI

Solution

Example XII:

Solution

(60

N\

There are 156 sticks in a box. How many sticks are there in
112 such boxes? HTO

Number of sticks in one box =156 xi i 2
Number of sticksin 112 boxes =156 x 112 D312
Therefore, number of sticksin 112 boxes 1560
=17472 715600

Answer : 17472 sticks 17472
Vibha saves 31438 every month. How much will she save
in4vyears? ThHTO
Vibha saves every month =3 1438 1 438
Her savingsin 4 years =4x12=48 months® x 48
| | =?.1438x48 11504

Therefore, Vibha will save in 4 years = +57 520
Answer :369024 69 024
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= BODMAS rule is used to simplify a sum. We use the following operations
in order.

First we use B that stands for Bracket.

Then, we use O that stands for ‘Of’.

Then, we use D that stands for Division.

Then M, that stands for Multiplication.

Then A, that stands for Addition.

Finally S, that stands for Subtraction.

¢ HIGR C IS JE Y 53 4

1. Findthe continued product of the following.

CO000O0

a. 48x28x7 b. 121x44x18
c. 217x18x17x3 d. 400x11x5x6
2. Simplify the following.
a. 275-13x3-7x5-11x7 b. 9x8-5x9-4x3
c. 17x3-12x3+6x2 d. 13x5+18x3-17x3

3. Ascannercosts< 7880. Find the cost of 21 such scanner.

4. The capacity of oil tank is 1155 litre. Find the capacity of 70 such oil
tanks.

5. There are 175 tubes in a bundle. How many tubes are there in 188 such
bundles?

6. There are 5141 students in a school. If every student contributesI 175
for picnic, then how much amount gets collected?

POINTS OF REMEMBER S
-+ Numbers can be multiplied in any order, the product remains the sam%
q < Theproduct of any number and 1 is the numberitself. :
< When anumber is multiplied by 0O, the productis 0.
< To multiply a number by 200, 300, 400, 500 etc. we multiply the
: nurréber by 2,3,4,5 etc. and add two zero (00) to the right side of the

N product. p
§~} We follow BODMAS rule to simplifying a sum. Z
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1. Match the items of column I with the corresponding items of
columnII.

a. 121x379 < - e 1. 1,49,000
b. 54x27x36 2. 3,900
c. 149x100x10 3. 10,300
d. (1,208 +12)x 100 4.0
e. 39x100x1 5. 1,08,300
. (1,141-111)x 10 ’ 6. 27x54x36
g. 139x37x0 e 70 379x121
h. 19x57x100 8. 1,22,000
2. Find the product ofthe following.
a. 13x1500 b.30x2000 c. 17x3000 d. 11x6000
3. Solve the following.
a. 516x112 b.325x19 c. 175x28 d. 204 x62

4. Findthe continued product.

a. 340x8x4x3 b.173x12x6x4 c. 119x62x8 d. 29x16x6
5. Simplify the following.

a. 8x6—-5x4+3x3 b.112+29%x18-7x0+5x13
6. If130Footballs can be packedinone carton. Inoneday, 1338 cartons are

packed in a factory. How many footballs are packed in the factory in all,
onthatday?

HOTS\
@\T/ A car factory produces 145 cars in a day. How many cars did it
_/’/ produce in the year 1989, if there were 73 holidays in the year? <zp ¢
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Objective
10.
Materials
squares as shown:
(110213114156l 7/[8 (9110
Number cards

Presentation:

% Allthe products from 2 to 10 should be written on the board.

Students should play in pairs.

)
0.0

/
0‘0

) ) K/
0’0 0’0 0‘0

)
0.0

The number cards are then replaced.

X/
0‘0

Both sets of number cards are mixed and then turned over.
The partners take turnsin picking up two number cards at a time.
The partners then multiply the numbers picked.
Whoever has the product, crosses it on his/her own grid.

To enable the children to recall the multiplication tables from 2 to

Two sets of number cards from 2 to 10 and blank grids of 4 x 4

Grid

The students copy any 16 numbers from the board on to their own grids.

The student who crosses out all the numbers on his/her grid is declared winner.

E.g.:In Round 1, Student A picks up cards 7 and 3 and Student B picks up cards 9 and 7.

Record the activity :

36 | 12 | 35 25|24 | 32 | 65
Student 8 | 1610 14 10/ 8 16| 14 Student
Asgrid |54 152825 18(15| 9 | 60|  B'sgrid
66 | 24 | 18 | 45 20| 30 77
Try this out :
Round Cards picked Productl Cards picked Product 2
by Student A by Student B
1 7 and 3 7x3=21 9and 7 9x7=63
2
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